
1. Pineapples and custard for pudding at 
camp and famine in Africa.
Pineapples grown by big multi-national fruit 
company.
Fruit company buys up most fertile land for 
plantation.
Local farmers forced off fertile land.
Farmers occupy marginal land unsuited to 
agriculture.
Tree-cover and vegitation destroyed by over-
grazing.
Rapid desertification of marginal land.

Desertification leads to even lower rainfail

Drought / fammie cycle established



2. Burning properties of wood and London 
flooding?
Scouts use wood for cooking without 
knowing the burning properties.

Scouts use more wood than is required
Burning wood increases C02 in the 
atmosphere.
C02 in the atmosphere creates the 
'greenhouse effect '

The average air temperature rises.

The polar ice caps begin to melt.

The level of the world's oceans rises.

The Thames Barrier is not high enough. 

London (and many other places) flood.


